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1. The first five-year plan of In

; a. 1951

! . 1952 : - 553

2. Which of the following is not
system? T o -
a. RBI
c. CIBIL

3. Inwhich year was the

4. Which one is a money mark

' plan of India was

velopment of po



8. The 12th Five Year Plan was applicable to and frim which of The following

periods?
a. 2005-10 b. 2004-09
c. 2012-17 d. 2007-12
9. Ultimately ......... was replaced by the ............... on 1% Jan 1995
a. GATS, WTO b. WTO, GAAT
c. GAAT, WTO d. IMF, WTO
10. NAFTA stands for

a. North American Free Trade b.
Agreement

c. Northern Atlantic Free Trade d.
Agreement

21

North African Free Trade
Association

Northern Association for Trade
Agenda
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Explain the significance of Flvg-y:

a) What is NABARD and SEBI? :
b) Discuss the silent features of Indian C
RBI. %!

What is capital market? Explam the txpes
Instruments in India.

Write a short note on (any two)

a) SAARC

b) NAFTA

¢) BOP .
d) IMF R

a)  What is Five-year Plan?
b) Whatis LGP?
¢) Discuss the Industrial policy, 1"991a»



